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






Ex.32 
5

8
 3

4




Power by: VISIONet Info Solution Pvt. Ltd 
Website : www.edubull.com Mob no. : +91-9350679141

Edubull

Sol.  
5

8
 3

4


5
8

)1()5(
)1(8

5
8 









3
4

)1()3(
)1(4

3
4 









3
)4(

5
)8(

3
4

5
8 










15
24

35
3)8(

5
8 








15
20

53
5)4(

3
4 














 









 


15
20

15
24

3
4

5
8

  = 
15
44

15
)20()24( 




Ex.33 3,
10
8

Sol.   3 
1
3

1
3  10 

10
30

101
103

1
3







10
30

10
8

1
3

10
83

10
8



         = 
5

19
10
38

10
308




Ex.34  : 
3
11

5
2

5
3

3
4 






Sol.  





 







 








5
2

5
3

3
11

3
4

3
11

5
2

5
3

3
4

  = 
35
31

53
57

5
1

3
7

5
23

3
114

















         ( ) 

  = .
15
32

15
3

15
35 




Ex.35 
9
7

9
5

Sol.  .
9
2

9
57

9
)5(7

9
5

9
7













 

( ) 

Ex.36 
5

6
 5

4

Sol.  .
5
2

5
46

5
4

5
6

5
4

5
6 










Ex.37 
5
8

3
5

Sol.  5  3  LCM 15 

15
24

35
38

5
8 









15
25

53
55

3
5 








15
2524

15
25

15
24

3
5

5
8 







 









 



15
49

3
5

5
8 







 



 Note :  (
) (a + b = b + a) 

(a + (b + c)) = ((a + b) + c) 


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y
x

y
x

7
3

7
3

17
13

17
13

 : 

 (ii)  : 

 

Ex.38 
5
4

3
2


Sol.  
3
2  + 

5
4

= 




















 

35
34

53
52

5
4

3
2

  = 
15

)12(10
15
12

15
10 






  = .
5
2

Ex.39 





 

3
5

7
2

Sol.  





 

7
2

3
5

7
2







 

3
5

= 
3
5

7
2


        = 
73
75

37
32








         = .
21
41

21
356

21
35

21
6






Ex.40 
7
3

8
5

Sol.  
8
5

7
3

8
5

7
3

8
5

7
3










 



  =
56
11

56
3524

56
35

56
24







Ex.41  : 
15

2
5
2

6
1 






Sol.  , 

15
2

5
2

6
1

15
2

5
2

6
1
























 

15
2

15
2



= 
30

226251    [LCM of 6, 5, 15 is 30] 

  = 
10

1
30

3
30

129
30

4125 










Ex.42 
8
5

9
5

?

Sol.  
9
5

8
5

72
9585

8
5

9
5

8
5

9
5 







 

  =
72
85

72
4540




72
85

Ex.43 
33

5
11
27

 ?
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Sol.   = 
33

5

 = 
11
27

, 
33
5

11
27

33
5

11
27






  = 
33
86

33
581

33
15327







33
86

Ex.44 
5
3

10
9

Sol.   = 
5
3

 = 
10

9

=  – 

  = 
10
9

5
3

10
9

5
3










  = 
10

1923 

10
3

10
96





10
3

(iii)  : 

 (a) 
b
a  c 

b
acc

b
a



 : 
7
5  9 

17
95

1
9

7
59

7
5








  = 

7
45

 (b)  : 

bd
ac

db
ca

d
c

b
a







: 
8
3

42
)3(1

4
3

2
1 










  (i) 

:
28
15

74
53

7
5

4
3 






 ( ) 

  (ii) 
3
1

4
1

4
1

3
1

  (

) 

  (iii) 
5
1

4
1

3
1

5
1

4
1

3
1







 






   ( ) 

  (iv)  0 

:  

   (a) 0
5
0

5
40

5
40 




   (b) 0
3
0

3
020

3
2







(iv)  : 

 (a) 
b
a

a
b

  (i) 
 1 

,  

   (a) 1
5
7

7
5

   (b) 1
3
8

8
3







  (ii) 

0 







1
0

0
1  (

) 

  (iii) 

  (iv) 1  –1 

   1 = 
1
1  = 1. 

   –1  = 
1

1


 = –1 
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  (v) 

d
c

b
a


   = 
b
a  × 

d
c = 

c
d

b
a
  = 

bc
ad

, 
2
3

6
5














 6

5
2
3

6
5







 

2
3

      = 
3
2

6
5







   = .
9
5

18
10

)3(6
25






  (vi) 

, 0
5
20  ; 0

8
30 




 :

  (i)   ( ) 
 (0 ) 

 ( ) 









bc
ad

d
c

b
a

  (ii) 
1 

, .1
5
4

5
4



  (iii) 1 

, .
4
31

4
3



 

Ex.45  : 

(i) 





 

4
11

4
6

  (ii) 
7
3

3
7


  (iii) 0
3
4


    (iv) 
5
42

3
13 

  (v) .
57

)3(
19

4 




Sol. (i) 





 

4
11

4
6

4
)11(6 

  = .
4
5

4
116 




 (ii) 
7
3

3
7


21
49

73
77

3
7





  (3 7  L.C.M. = 21) 

21
9

37
33

7
3







7
3

3
7
  = 

21
9

21
49

  = 
21

949  = 
21
58 . 

 : 

7
3

3
7


  = 
21

)3(3)7(7   (3  7 L.C.M. = 21) 

21
949 

  = 
21
58 .  

 (iii) 0
3
4


  = 
3
0

3
4


   = .
3
4

3
0)4( 




 (iv)  
5
42

3
13 

   = 
5

14
3
10


  = 

15
314510 

    ( 3  5  LCM = 15) 

   = .
15

8
15

4250 




 (v) 
57

)3(
19

4 



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   = 
57

)3(12
57

1)3(34 




          ( 19  57  LCM = 57) 

   = .
57
15

57
312 




Ex.46  : 

(i) 
36
13

24
5
    (ii) 






 

21
5

63
4

  (iii) 





 


25

6
13

7  (iv) 
11
8

8
5




  (v) 3
7
13 

Sol.  (i) 
72

213)3(5
36
13

24
5 



( 24  36  LCM = 72) 

= 
72
11

72
2615 




 (ii) 
21
5

63
4

21
5

63
4







 

     ( 21  63 LCM = 63) 

   = 
63

3514   = .
63
19

63
154




 (iii) 
25
6

13
7

25
6

13
7










 



    (13  25 LCM = 325) 

   = 
325

136257   = 
325

97
325

78175 




 (iv) 
88

88115
11
8

8
5 




     ( 8  11  LCM = 88) 

    = 
88
119

88
6455 




 (v) 
1
3

7
223

7
13    ( 7  1 LCM = 7) 

   = .
7
43

7
2122

7
7322 







Ex.47  :   

(i) 





 

4
5

2
7

  (ii) )9(
10
7



  (iii) 
4
5

5
4 



  (iv) 






 

5
2

7
4

Sol. (i)  
8
35

42
)5(7

4
5

2
7 











 

 (ii) 
1

)9(
10
7)9(

10
7 

  = 
110

)9(7

  = 

10
63

 (iii) 
4
5

5
4 




 = 
4)5(
)5(4




 = 1
20
20





 (iv) 





 






 

5
2

7
4

5
2

7
4  = 

35
8

57
)2(4 





Ex.48  : 

(i) 
3
2)6(     (ii) 2

5
4




  (iii) 





 

65
4

13
3   (iv) 

8
2

8
2 




  (v) 1
9
6







 

Sol. (i) 
21
36

2
3

1
6

3
2)6(







  = 9
2
18




.9
3
2)6( 

 (ii) 
25
14

2
1

5
42

5
4










        = 
5
2

5
2

5
12 







.
5
22

5
4 




 (iii) 
)4(13

653
4

65
13
3

65
4

13
3













 

        = 
4
15

4
15 



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.
4
15

65
4

13
3 







 

 (iv) 1
11
11

)2(8
8)2(

2
8

8
2

8
2

8
2





















.1
8
2

8
2







 (v) 
1
1

9
6

1
1

9
61

9
6










 






 

     = .
3
2

13
12

19
16 









.
3
21

9
6 







 

Ex.49  : 

(i) 





 

25
8







 

16
5

(ii) 






11
9








 27
22

Sol.  (i) 





 

25
8







 

16
5

= 
400
40

1625
58

16
5

25
8











 40  400 
 40 

   = 
10
1

40400
4040





  (ii) 






11
9








 27
22

27
22

11
9







   = 
297
198

2711
229






   = 
3
2

99297
99198





Ex.50 : .
7
6

3
2

5
9

3
2







 







 


Sol.  





 







 


7
6

3
2

5
9

3
2

= 





 


21
12

15
18

 = 
105

)512(718 

  =
35
62

105
186

105
60126

105
)60(126 










7
2  3 

7
2  3 

7
6

7
63

7
2 




7
6

17
32

1
3

7
23

7
2 











7
8

7
7

7
6

7
5

7
4

7
3

7
2

7
1

7
0

7
1

7
2

7
3

7
4

7
5

7
6

7
7

  ( ), 
 (ab = ba)  (a(bc) = (ab)c) 
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Sol.  
5

8
 3

4


5
8

)1()5(
)1(8

5
8 









3
4

)1()3(
)1(4

3
4 









3
)4(

5
)8(

3
4

5
8 










15
24

35
3)8(

5
8 








15
20

53
5)4(

3
4 














 









 


15
20

15
24

3
4

5
8

  = 
15
44

15
)20()24( 




Ex.33 3,
10
8

Sol.   3 
1
3

1
3  10 

10
30

101
103

1
3







10
30

10
8

1
3

10
83

10
8



         = 
5

19
10
38

10
308




Ex.34  : 
3
11

5
2

5
3

3
4 






Sol.  





 







 








5
2

5
3

3
11

3
4

3
11

5
2

5
3

3
4

  = 
35
31

53
57

5
1

3
7

5
23

3
114

















         ( ) 

  = .
15
32

15
3

15
35 




Ex.35 
9
7

9
5

Sol.  .
9
2

9
57

9
)5(7

9
5

9
7













 

( ) 

Ex.36 
5

6
 5

4

Sol.  .
5
2

5
46

5
4

5
6

5
4

5
6 










Ex.37 
5
8

3
5

Sol.  5  3  LCM 15 

15
24

35
38

5
8 









15
25

53
55

3
5 








15
2524

15
25

15
24

3
5

5
8 







 









 



15
49

3
5

5
8 







 



 Note :  (
) (a + b = b + a) 

(a + (b + c)) = ((a + b) + c) 


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y
x

y
x

7
3

7
3

17
13

17
13

 : 

 (ii)  : 

 

Ex.38 
5
4

3
2


Sol.  
3
2  + 

5
4

= 




















 

35
34

53
52

5
4

3
2

  = 
15

)12(10
15
12

15
10 






  = .
5
2

Ex.39 





 

3
5

7
2

Sol.  





 

7
2

3
5

7
2







 

3
5

= 
3
5

7
2


        = 
73
75

37
32








         = .
21
41

21
356

21
35

21
6






Ex.40 
7
3

8
5

Sol.  
8
5

7
3

8
5

7
3

8
5

7
3










 



  =
56
11

56
3524

56
35

56
24







Ex.41  : 
15

2
5
2

6
1 






Sol.  , 

15
2

5
2

6
1

15
2

5
2

6
1
























 

15
2

15
2



= 
30

226251    [LCM of 6, 5, 15 is 30] 

  = 
10

1
30

3
30

129
30

4125 










Ex.42 
8
5

9
5

?

Sol.  
9
5

8
5

72
9585

8
5

9
5

8
5

9
5 







 

  =
72
85

72
4540




72
85

Ex.43 
33

5
11
27

 ?
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Sol.   = 
33

5

 = 
11
27

, 
33
5

11
27

33
5

11
27






  = 
33
86

33
581

33
15327







33
86

Ex.44 
5
3

10
9

Sol.   = 
5
3

 = 
10

9

=  – 

  = 
10
9

5
3

10
9

5
3










  = 
10

1923 

10
3

10
96





10
3

(iii)  : 

 (a) 
b
a  c 

b
acc

b
a



 : 
7
5  9 

17
95

1
9

7
59

7
5








  = 

7
45

 (b)  : 

bd
ac

db
ca

d
c

b
a







: 
8
3

42
)3(1

4
3

2
1 










  (i) 

:
28
15

74
53

7
5

4
3 






 ( ) 

  (ii) 
3
1

4
1

4
1

3
1

  (

) 

  (iii) 
5
1

4
1

3
1

5
1

4
1

3
1







 






   ( ) 

  (iv)  0 

:  

   (a) 0
5
0

5
40

5
40 




   (b) 0
3
0

3
020

3
2







(iv)  : 

 (a) 
b
a

a
b

  (i) 
 1 

,  

   (a) 1
5
7

7
5

   (b) 1
3
8

8
3







  (ii) 

0 







1
0

0
1  (

) 

  (iii) 

  (iv) 1  –1 

   1 = 
1
1  = 1. 

   –1  = 
1

1


 = –1 
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  (v) 

d
c

b
a


   = 
b
a  × 

d
c = 

c
d

b
a
  = 

bc
ad

, 
2
3

6
5














 6

5
2
3

6
5







 

2
3

      = 
3
2

6
5







   = .
9
5

18
10

)3(6
25






  (vi) 

, 0
5
20  ; 0

8
30 




 :

  (i)   ( ) 
 (0 ) 

 ( ) 









bc
ad

d
c

b
a

  (ii) 
1 

, .1
5
4

5
4



  (iii) 1 

, .
4
31

4
3



 

Ex.45  : 

(i) 





 

4
11

4
6

  (ii) 
7
3

3
7


  (iii) 0
3
4


    (iv) 
5
42

3
13 

  (v) .
57

)3(
19

4 




Sol. (i) 





 

4
11

4
6

4
)11(6 

  = .
4
5

4
116 




 (ii) 
7
3

3
7


21
49

73
77

3
7





  (3 7  L.C.M. = 21) 

21
9

37
33

7
3







7
3

3
7
  = 

21
9

21
49

  = 
21

949  = 
21
58 . 

 : 

7
3

3
7


  = 
21

)3(3)7(7   (3  7 L.C.M. = 21) 

21
949 

  = 
21
58 .  

 (iii) 0
3
4


  = 
3
0

3
4


   = .
3
4

3
0)4( 




 (iv)  
5
42

3
13 

   = 
5

14
3
10


  = 

15
314510 

    ( 3  5  LCM = 15) 

   = .
15

8
15

4250 




 (v) 
57

)3(
19

4 



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   = 
57

)3(12
57

1)3(34 




          ( 19  57  LCM = 57) 

   = .
57
15

57
312 




Ex.46  : 

(i) 
36
13

24
5
    (ii) 






 

21
5

63
4

  (iii) 





 


25

6
13

7  (iv) 
11
8

8
5




  (v) 3
7
13 

Sol.  (i) 
72

213)3(5
36
13

24
5 



( 24  36  LCM = 72) 

= 
72
11

72
2615 




 (ii) 
21
5

63
4

21
5

63
4







 

     ( 21  63 LCM = 63) 

   = 
63

3514   = .
63
19

63
154




 (iii) 
25
6

13
7

25
6

13
7










 



    (13  25 LCM = 325) 

   = 
325

136257   = 
325

97
325

78175 




 (iv) 
88

88115
11
8

8
5 




     ( 8  11  LCM = 88) 

    = 
88
119

88
6455 




 (v) 
1
3

7
223

7
13    ( 7  1 LCM = 7) 

   = .
7
43

7
2122

7
7322 







Ex.47  :   

(i) 





 

4
5

2
7

  (ii) )9(
10
7



  (iii) 
4
5

5
4 



  (iv) 






 

5
2

7
4

Sol. (i)  
8
35

42
)5(7

4
5

2
7 











 

 (ii) 
1

)9(
10
7)9(

10
7 

  = 
110

)9(7

  = 

10
63

 (iii) 
4
5

5
4 




 = 
4)5(
)5(4




 = 1
20
20





 (iv) 





 






 

5
2

7
4

5
2

7
4  = 

35
8

57
)2(4 





Ex.48  : 

(i) 
3
2)6(     (ii) 2

5
4




  (iii) 





 

65
4

13
3   (iv) 

8
2

8
2 




  (v) 1
9
6







 

Sol. (i) 
21
36

2
3

1
6

3
2)6(







  = 9
2
18




.9
3
2)6( 

 (ii) 
25
14

2
1

5
42

5
4










        = 
5
2

5
2

5
12 







.
5
22

5
4 




 (iii) 
)4(13

653
4

65
13
3

65
4

13
3













 

        = 
4
15

4
15 



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.
4
15

65
4

13
3 







 

 (iv) 1
11
11

)2(8
8)2(

2
8

8
2

8
2

8
2





















.1
8
2

8
2







 (v) 
1
1

9
6

1
1

9
61

9
6










 






 

     = .
3
2

13
12

19
16 









.
3
21

9
6 







 

Ex.49  : 

(i) 





 

25
8







 

16
5

(ii) 






11
9








 27
22

Sol.  (i) 





 

25
8







 

16
5

= 
400
40

1625
58

16
5

25
8











 40  400 
 40 

   = 
10
1

40400
4040





  (ii) 






11
9








 27
22

27
22

11
9







   = 
297
198

2711
229






   = 
3
2

99297
99198





Ex.50 : .
7
6

3
2

5
9

3
2







 







 


Sol.  





 







 


7
6

3
2

5
9

3
2

= 





 


21
12

15
18

 = 
105

)512(718 

  =
35
62

105
186

105
60126

105
)60(126 










7
2  3 

7
2  3 

7
6

7
63

7
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